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QUESTION 1

What are the three setup steps required to implement the Lockbox feature? (Choose three.) 

A. Receipt Classes and Receipt Methods 

B. late charges 

C. Lockbox and Lockbox Transmission Formats 

D. Receipt Sources 

E. credit card refunds 

Correct Answer: ACD 

 

QUESTION 2

Identify two late charge interest calculation methods. (Choose two.) 

A. Previous Balance 

B. Adjusted Balance 

C. Overdue Transactions only 

D. Average Daily Balance 

Correct Answer: CD 

 

QUESTION 3

The Multifund Accounting feature supports detailed distributions for invoices with revenue recognition rules. For a
customer invoice with the distributions below: 

Which unearned revenue accounting entries will the feature generate? 

A. Credits of $900 and $600 for companies 01 and 02 respectively 
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B. Credits of $900 and $500 for companies 01 and 02 respectively 

C. Debit of $900 and credit of $500 for companies 01 and 02 respectively 

D. Credit of $900 and debit of $500 for companies 01 and 02 respectively 

E. Debits of $900 and $500 for companies 01 and 02 respectively 

Correct Answer: C 

 

QUESTION 4

Which three Infotiles can be seen in the Accounts Receivables work area? (Choose three.) 

A. Activities 

B. Unapplied Receipts 

C. Unapplied Credits 

D. Receipt Batches 

E. Unidentified Receipts 

Correct Answer: BCD 

 

QUESTION 5

Which two statements are true when you are using the Intercompany Reconciliation Process? (Choose two.) 

A. The Transaction Summary Report shows only transactions with a status of received. 

B. The Clearing Company Balancing Lines appear in the Intercompany Reconciliation Summary Report. 

C. The Reconciliation Period Summary Report shows the intercompany receivable and the intercompany payable lines
generated by the intercompany balancing feature. 

D. The ledger balancing lines are generated when theprimary balancing segment value is in balance but either the
second balancing segment or the third balancing segment is out of balance. 

E. You need to submit the Extract Intercompany Reconciliation Data job. 

Correct Answer: CD 
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